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QUESTION 1

Where should fact queries against OLAP sources come from?
A. A flat file

B. An .iqd file

C. A Cognos 10 report

D. A Cognos 10 package

Correct Answer: A

QUESTION 2

When measures are calculated after rollup, when are the calculations performed?
A. Before time state rollup takes place.

B. After allocated measures are calculated.

C. Before regular rollup takes place on all measures.

D. After relative time calculations.

Correct Answer: B

QUESTION 3

To add dimensional data to an existing model, how can metadata be leveraged from other published OLAP packages?
A. Insert an OLAP package in the data source list.

B. Import a PowerCube as a data source.

C. Add dimensions from an OLAP package in the dimension map.

D. Add a data source query using a Cognos 10 OLAP report.

Correct Answer: C

QUESTION 4
In Transformer, how can a developer restrict access to an entire PowerCube from authorized users?
A. Apply cube-based security.

B. Set member-based security.
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C. Apply nhamespace-level security.
D. Set package-based security.

Correct Answer: A

QUESTION 5

For a cube that represents values in Euros, what should be done for American consumers to see the appropriate
currency symbol in Euros?

A. Build Cubes using a system locale that matches the measure locale.
B. Manually create and update the base currency information.

C. Set up currency conversion without defining a default currency.

D. Use more than one data source to supply the conversion rates.

Correct Answer: A

QUESTION 6

A developer added a manuallevel in the time dimension. During category generation, the developer gets a warning that
Transformer is not able to relate the categories to the parent levels. What must be done to ensure Transformer relates
the categories correctly?

A. Specify a date function for each level.

B. Specify date input format.

C. Specify an Invalid Dates category.

D. Specify a time-state rollup.

Correct Answer: A

QUESTION 7

A developer notices thattildes (~) exist in the category codes. What can be done to avoid unstable MUN values?
A. Perform a Clean House.

B. Resolve the non-unique keys within a dimension in the data source.

C. Regenerate the categories.

D. Ensure the values are non-conformedin the data source.

Correct Answer: B
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QUESTION 8

What can be done to apply member-based security if the model contains cube groups?
A. Define the security for each member cube.

B. Inherit the security that was used in the control cube.

C. Create a hierarchical custom view.

D. Create a descendant custom view.

Correct Answer: A

QUESTION 9

What modeling factor affects the auto-partitioningstrategy and causes poor consolidation for partitioned categories?
A. Wide, flat dimensions

B. Well-balanced hierarchical dimensions

C. Allocated measures

D. After rollup calculated measures

Correct Answer: A

QUESTION 10

ACognos 10 report with prompts is used as a data source. What must be done to create a second query that is based
on the same report but provides different values for mandatory prompts?

A. Add the second query to the report data source.

B. Refresh thesource when adding the second query.

C. Add prompt values to the cache in the Transformer data source.
D. Add the same report as another Transformer report data source.

Correct Answer: D

QUESTION 11
What should a developer do if some levels appear red after validating the model using Show Scope?

A. Ensure thelevel exists in the data source.
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B. Specify a valid relationship between the level and the data source.
C. Re-attach the categories in the Dimension Diagram.
D. Apply unigue move to the level and regenerate the categories.

Correct Answer: B

QUESTION 12

When running simultaneous cube builds, how can cube build times be decreased?
A. Assign each Transformer process one CPU.

B. Assign each Transformer instance one CPU.

C. Use the same configuration files for each Transformer instance.

D. Usea single-CPU server model.

Correct Answer: A

QUESTION 13

What does the developer specify when creating a test build that uses a subset of the source data?
A. The number of categories.

B. The dimensions to include in the cube.

C. The number of records.

D. The measures to include in the cube.

Correct Answer: C

QUESTION 14

How is the PowerCube updated once changes are made to a custom view?
A. The cube must be rebuilt.

B. The custom view should be re-defined.

C. The changes are automatically updated.

D. Security objects must be re-assigned.

Correct Answer: A
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QUESTION 15

What can a developer set up to analyze actual, planned, and forecasted budget information that do not rollup into a
single root category?

A. Scenario dimension

B. Calculated category

C. Special category

D. Exception dimension

Correct Answer: A
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